Acme Widgets Financial Package Implementation Project

Case Study Exercise #6
Managing schedule and budget

The total budget for the project is $600,000 and the completion time is six months. After the first month of the project, the project manager is noticing that the cost and schedule were starting to vary from the budget and from the initial baseline schedule. 
The following facts and trends were starting to emerge.

1. The amount of time required for contract resources seemed to be on-target, but they had to pay $20.00 per hour more for the resources than they estimated. The total number of contract hours for the project is 500.

2. One of the sub-teams is already a week behind. The team has a plan to try to catch-up over the next three weeks.
3. Software and hardware was budgeted to cost $75,000. However, it looks like they will be getting better deals than they thought and the total price will only be around $50,000.

4. One of the senior members of the team announced that she is pregnant. The team is all thrilled. Unfortunately, the due date is right around the implementation date. The team will need to cross-train another person to take over her responsibilities when she is gone. The most likely candidate is assigned a series of activities on the critical path. The cross-training time may mean that the critical path activities will be delayed.

5. Two of the technical team members are not coming up-to-speed in the new technology as fast as hoped. The question is whether they will continue to take longer than estimated for their work or whether the project manager should invest in a one-week training class. The class is not built into the schedule.

6. The customer wants to add new features to the software that will require additional work and budget. 

Case Study Exercise #6

Managing schedule and budget

Instructor’s Notes
The purpose of the exercise is to invoke thinking about the options that are available for various budget and schedule problems.  There are no right and wrong answers – only what makes sense given the assumptions that each team makes. 

Some things to look for are as follows:

1. The amount of time required for contract resources seemed to be on-target, but they had to pay $20.00 per hour more for the resources than they estimated. The total number of consultant hours is 500. 

This equals $10,000. Some teams might say the amount is too small to worry about in a total budget of $600,000. However, since the project is just beginning the overage should probably be addressed since you may not want to give up the $10,000 right away. Some ideas should be given for dealing with the cost overrun. One idea is to renegotiate the consulting fees to a lower rate. Other options include looking for a consultant that costs less, and seeing if there are employees (or less expensive consultants) that can do some of the work current assigned to the consultants. If the consultant works fewer hours (instead of 500) your budget might still be okay. 
2. One of the sub-teams is already a week behind. The team thinks they can catch up over the next three weeks.
The first question to ask is whether this team is on the critical path. If they are not on the critical path, you may not to take any action right now. The delay may not impact the final project end date, but you still may want to take some action. 

If they are on the critical path, there could be more of a problem. Normally, schedule delays early in the project do not tend to work themselves out. It is likely that this trend will continue. However, the project manager needs to look more closely at why this sub-team is behind. There may have been some initial startup problems that caused the delay and will not reoccur. 
If they are on the critical path, they cannot continue in a “steady state” or the project will be delayed by a week. The team needs to make up the one week they are behind. If it looks like the team can make the time up (as they say), you might let them go a while longer. If they do not, you may have to reassign someone to help the team get caught up. You could also ask the team to work some unpaid overtime. You might also look to see if one or more people might need to be reassigned off this team and replaced with a stronger person.
3. Software and hardware was budgeted to cost $75,000. However, it looks like they will be getting better deals than they thought and the total price will only be around $50,000.

This is good, and gives the team some flexibility to offset increased expenses elsewhere on the project. 
4. One of the senior members of the team announced that she is pregnant. The team is all thrilled. Unfortunately, the due date is right around the implementation date. The team will need to cross-train another person to take over her responsibilities when she is gone. The most likely candidate is assigned a series of activities on the critical path. The cross-training time may mean that the critical path activities will be delayed. 
This is a tough one. You can look at whether the project can be accelerated to try to finish the work before the maternity leave, but this is risky. It is possible that this person might need to be replaced. It is bad news that the potential replacement is on the critical path. There is some flexibility because the maternity leave is still a number of months away. That may give you enough time to designate another person to be the backup and have them cross-trained for when the maternity leave occurs.
5. Two of the technical team members are not coming up-to-speed in the new technology as fast as hoped. The question is whether they will continue to take longer than estimated for their work or whether the project manager should invest in a one-week training class. The class is not built into the schedule. 
This is always a tough decision. Do you invest in the training and take the schedule hit today? Or do you set up some type of internal mentoring to try to get this team up to speed before the delay becomes critical to the project. Any logical answers would suffice for this problem. 
6. The customer wants to add new features to the software that will require additional work and budget. 
This is not a workload problem, but is a scope change request. If this request goes through normal change control, then it would be denied or approved – along with appropriate budget and deadline extension.   
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